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1l PUC MODEL QUESTION PAPER FOR REDUCED SYLLABUS 2021-22

SUB:-Sanskrit(09) Max Marks:-100

|. AT HERTATIAT ST forEa) (IATHTHa)

1. ALY Fd FATAT: qiea?
2 frsaer AT #:?
3.fesmHTiacreat 1 Ferata?

4 77T FheTtEer Tt R ?

5. TSI ATorST: 8 Foha<ie shr=aq?

6. TSN HSS[UTAT: 3Td: & [H{erafd?
7.9TEd: & ?

8. TTUTTSATT: AT ATH ASTIA?

9. FrferhTaT: FEAT LTEHTH ATFH F: TLTIA?
10.9graamaT: fuar :?

11 . Fgraar o Srforerg?

12.97=%: formet e smrssfa?

13.gra<: e qfeaar?

14.% gati=agiea?

(FERICERIEEE LY

|1.T23: qToRY: TERFTATIAT FSHTHAT STEIAATIAT a7 I for@d| (Tgqmmaa)

16. 95 dTAT ATHT forad|

17 faspwrtacr: e B safaarta?
18.9aTsTeh: ST st=e o 3am=?

19. TS HoS[UT 9T o Fifa?

20.fae=T: TOMTIAT e AT ATa?

21 g7 THATLH ATSTEH Zq AZTEdT Fa(q?

10*1=10

5*2=10



22 ertfea: fomef a=7 3gH ARTaadr?
23 et wer:?
|11 97T STeered IR FATATE FASHTTAT SAEAAWTIAT AT F&d | (TATITHS) 3*3=9

24 AT U TN+ 14d|
A AT AATETETHIT: T

25T Aed 3@ H STq F<hl g 7 a1
TTAHRATA T AT Rid Tl

26.H/5S[UT 7 o TATAT aaTed e e
FAT TATST (AT T ATHHAN

27. A TET Fed AT T2
AATTZEITId A digH

28.9@: TATHGHYT aT aaeq=dd F9
TRATN TATHTET T Fq LTI ||

29 74T =fead &1 arar A9 THeAql
L ECRGE LR CEIR R HEAERIE R
IV areamH Sfeared &: & It stasq o aepawreaT foread (Fgqurtaa) 4*2=8

30.F fersaeg oMl aieg<rel

31.9@TH  IqFaedar: Aadl
32 FAATagedsAd A digad
33.FATY AT & SR AT
34 \H S{taw dTe0e Faq|
35.quer i ATH =4hl
36.5 wTH st FeATaate
V. TLETHY: GEFTATIIT FHAESHTIAT ATSIAATIAT AT I for@q|(TFTHTHE) 5*5=25
37 RO AT e Aforae?
38. AT eT XIS Fua|

39.94T15T: |



40 . TS [A THTEHST: |

41 AT A=A 0|

42 FETIOTIATA AT FETLFIL
43. =FET g foradl

44 =T arrfea:|

VI ST Goh 99 et e gl

VII. 49 51|
E} M
ESIEIT] STAHATI
ST 1% ERERID]
AATHIHT SATTET AT
Sl B

VIl ZETEhar qarfe e s =it | (FAToHE)

50.9%g: @ ATeElscaae: feHT wafed|

51 3= _TATSTET F9H AT
52 70T THAHEAU: 97|
53.33dfHg: Tardt TSI A

54 ITRM: sreedtearat 7 fasfeal

4*1=4

4*1=4

3*1=3



IX.Forfager feraa (wquriaa) 4*3=12
55. gfeer ferasra/asad (o)
Geaed s , AATAGTST , T+, GA+3T0 |, ThTh:+3caTIad:
56 faTeaTri/aTeTe T (o)
AT, ATEAT: , AT e i, [N I, ATAT qg90T
57 .freT-frfRe — g e (EEE)

58. AFL-IET-a9T orEd (A1)
T, AT, ATTH , e
59. 939 =d Foa|(FTATITHY)
ftar: | fe=dt , sqer , A, e
60. TRt TREqad|

EREH
farfem =i T
61.37ASHE gaaeror fAfderT |

TR FFdl aAT=a |

AT4T

HET TUIEAET e tHa quga=moy|
62. FHASHATIAT ATSIAATEAT AT A=Al (THH) 1*5=5

TR ¥ TTaE-S I TFaT F9cAT: Uah: T SISTIAd| Saa: faed Tgrq Siaed aeg a5
T AT FIHIT: qTeT T ATeTAT FHIA, FeATH AR HIG: ATTAT THRTAL ITeaT T FH1r
TEITTOT ST STAeay AT FAqY (<8 T8 HEATH AATAALIHET AR Tl F U =T
ATFHTATATE: |

ERCH
T ATaed AT raeTehT =T of<h: T¢d| IeAT: I | NT STad| #7:
el STEaddTs: Ted| THaraTa: aFgerd| $=51 Fear T=aid, Jd: @9 SI8T: THevarade
Terefreraaite: ffeqsatafa sateerfa




63. GERTATIAT A= (THH) 1*5=5
0BT, BoBOIT BodeBeabad B 300h . gy ATTBT MedD bOAbEIR,SoB 31t

RBI0ITE BT BORDS, B0, B0E Hosr 3oy BB BoB3 BB BSEBTL. VB SoBID)

S0oB. 0B Feom @A AeSLE,. 203D BEVoWB, BeoDFTA BTBBD DFLINAD)

FIRDTIS. Q03B APIBAT !

Karthikeya the destroyer of demon Taraka. is the younger son of Lord Shiva. Ganesha the
recover of the obstacles is the his elder son. Kubera the lord of wealth is his friend. Parvathi
the mother of universe is his wife.Parvatharaja the king of mountains is his father-in-
law.Nandhi is his vehicle. Veerabhadra is his chief of army.In spite of all this,Lord Shiva
begs.what a destiny.

AT

WD, TIVAEOIIT BIBENTITIVN WP AW 00T @) AT~ T TV, BRIITOUS
Horie AdReNTIFSINYRY, HBB0TY Tert ByomSead?” 0T8N VIBD 0ty shdBodbede , ded)
,3: 390FAR,IF, B0V @33 0 PoIWIEN. B @)@odBY dVTP
D00 RBOT IBABNST, S O VY D0 LBI0T BSFB B, At oDIES
BTN VWD TG DO LVSBOIT.

Once the sages went to the king Janaka and asked him-‘oh king,how can you
perform both protection of the subjects and accomplishing Yoga simultaneously?’.The king
replied —'Oh great sages,| think, you are questioning me ,though you yourselves know it.
Every thing happens in this world by the grace of Almighty. | dishcharge my duties with the
feeling that nothing is mine. So this is possible.

64.3% = afs@T T STArr fora 5*1=5

TRT STATEATAT TR ATH AT SATEI| THaT T3 AH AT g H Uogal a2 9 I
THFAITH OwT ATeaT Tes AT ATEAATH T TTATA Afeal aF JFAd: oA THI
AT | TATE Aea e qIAT: Y A qTaTd =S| T TATE 2aT,H 0 T F0< 3
HeaT ,d o WA AaT=aeres: SAavad | TaT Frodr G T2 I a i T hadr| .
SUYT: Fafeq ‘Afa=r TFATT 7 T FOsia |
AT -

i EST AT TSI A A ?

i 2.3 ' T A Use ?

iii. 3. AHTH F ATEAAT ?

iv.  4.Far g & e ?

v. 5.3 s3gr: fF aafea ?
EREI

TOHTE =TT aTiuahcars snreq FemT oo e forEd |






